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General Instructions :

(1)
(i)

(ii1)

57(B)

All questions are compulsory.

This question paper consists of four Sections A, B, C
and D. Section A contains 8 questions of one mark
each, Section B is of 10 questions of two marks
each, Section C is of 9 questions of three marks each
and Section D is of 3 questions of five marks each.

There is no overall choice. However, an internal choice
has been provided in one question of 2 marks, one
question of 3 marks and all the three ‘questions of
5 marks weightage. A student has to attempt only one of
the alternatives in such questions.



e A

SECTION A
1. TSI A iSRS S o ge gt SO 24 yu-aw
i 2 o
How many megaspore mother cells will produce 24 embryo

sacs ?

2. FANGIAUFEH (CFCs) F gAR GHEUT W 9g4 aTell &z Teh
JIEEACIEICRCRI 1

Mention any one harmful effect of chlorofluorocarbons
(CFCs) on our environment.

3. ®E U 3I¢RW IaRU 94 9HT FEGAd & YRUTHEEY
Stk fasma garm @ | 1

Give any example where human actions have resulted in
organic evolution.

4. 37 I F 99 faf@u St DNA # sgfFaeRe st i
fe & g o9 &W Fd § | 1

Name the molecules that form the backbone of the
polynucleotide chains of DNA.

5. U9 #i 2 % Wi g@en Afufmar (PCR) I wa § e
Taq TS Tomew Afard &ar @ 7 f6 DNA diefimis ? 1
Why is the thermostable Taq polymerase enzyme essential

in carrying out polymerase chain reaction (PCR) and not
DNA polymerase ?
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6. TGl § TH FIARUA H HT FA § LAl F g Ta=y |
Mention the role of statins in lowering blood cholesterol in
humans.

7. IYAfAMHAT qAT THfeTmerl GEi 1 Uh-Ush I<@L0T ST |

Give one example each of a monoecious and a dioecious
plant.

8. W W HEell % -1 UH B §, I F ATH Fol wd
QY SEvIRdrel @ g Y JER wd § ?

What is detritus food chain made up of and how do they
meet their energy and nutrient requirements ?

Qus B
SECTION B

9. TFE IGH] % WHEW qg1 TE W & F-H & g, fafaw |

Write the functions of acrosome and the middle piece of a
human sperm.

10. STa9 & 3gWE H Heheddr & fewn H, TH.UA. feR & F
IEE @ 8, THIET |

Explain S.L. Miller’s contribution towards the concept of
origin of life.

11. AFEl & 39 <@ 9 H T fafer 98 t@bRT F1 GHA0 @
ST T 2 | fordl @y oA H 39 UtSiel 1 GshHUT fRg
YR TgEdt 8 7

Name the body part of humans that is infected by Ascaris.
How is the parasite transmitted to a healthy person ?
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12.

13.

14.

15.

16.
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3 sH-H ° fafie fafEi € 9% g0 999 IR & iR
qfFa sfawen IRa &1 ST Gt 7 7

Mention the different ways by which active immunity can
be induced in the human body.

TH &% o SR JaARY 5% FN 3T HFA e BOHE
AT S § S frRe % e | BT St @

State any two reasons to justify the statutory warning that
is printed on the cigarette packings.

qLSiel @ i3 IR 3Teell fafirEad fHET |

List any four adaptive features of a parasite.

SH WRA % gUR F I §, BEA & Savecem & T
HGYAF Fed F HHET ST & 2

Why is biofortification of crops considered a necessary step
towards improving public health ?

Ypfd S &E & T His IX TIRad Hard fHRy |
HAIAT
3q fayg d FRUT FaRT fF dEuEfe gu favg & Fe Wie
(T @) F@ I A &6 B HaluE g JeE H SH &
fTT @1 Sar @ | 9Rd & FE & g Wil & AW IRy |
List any four ecosystem services provided by nature.
OR

Give reasons why ‘hot spot’ regions of the world are
identified for maximum protection by conservationists.
Name any two hot spots in India.



17. SR g0 gL THIAST & AYHRA-UIEH & A1 H G A W
I =T ST 3 | HYHSE! H el QeI urell S e
wiiefist &1 d3faer AW faf@u |

Explain giving reasons why bee-keeping practices are
carried out on a large scale. Give the scientific name of the

most commonly cultured species of honey bee.

18. AHE et ¥ TifRys & w9 A SiAU (srAicH) Y gER
¥ INEHER WEA §, 9UeEC | WE 9 Al Mo s qonr |
ATl T TH AT IART |

How do ‘implants’ act as an effective means of contraception
in human females ? Mention one advantage of the implants
over the pills.

w@us C
SECTION C

19. (a) @ Ff T 21 & @ Afafew gfafay ag S @,
39 fooR @1 W fafEge @ 39 FE § W AREY |

(b) uHEl H 39 YER 1 RE fGHR e &A Al WA &
fora # H9=RT |

(a) Name the disorder and any two symptoms caused by the
gain of an extra copy of Chromosome 21. .

(b) Explain the event responsible for causing such
chromosomal disorder in humans.
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20. $oie H ST 31 o & 9IE ¥4 1920 § F® WE A
(Afeq) & HURT H udr gen f& 39 gok O7 & UGl @ waw
G I el GG Al e ok He U § dgd FH
of Sfafeh SMEmMeRoT & qd (1850 & <% H) I8 < Il @
3@ off | Sifad & Wipfas 0T & fagia & ded # 39 Jeur &
foma # wHEET | 3

The collection of certain moths after industrialisation in
England (1920), showed population of light winged less
than that of dark winged moths, which was reverse of the
observation made prior to industrialisation (1850s). Explain
the observation made, with reference to Darwinian natural
selection.

21. gaaitsEl H famfEd g are @5 T IR gfear ey fSHe
SR W-TUO Wiedifed gl @ | TS FReaAl H @ AT g g,
faf@T | 3

List any four devices that develop in angiosperms to
encourage cross pollination. Mention the advantage of such
devices.

22, TEYAISAl 91 STFYU] JATI H FR Jasy | Jdh H Th-Ueh
ICTET ST | 3

Differentiate = between  codominance and  incomplete
dominance. Give one example of each.

23. T 4 B & fF FH-FIR ST G RINEHT G 57

STt € 7 TeW oSl @ gaq S i e S @ 2 3

-4

Al
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(a) fodl s fie & S ‘Sfada HAfedisE 9T (BOD) § &I
qar goAd 7§ 2

(b) HOSd (Hias) YRR ¢H & diae wafts afeyer §, 39%
fediae STER & <9 BOD &R # 84 drel uRadHi & fawy

T gussu |

How do normal cells sometimes become cancerous ? Why
are malignant tumors so feared ?

OR

(a) What does high ‘Biological Oxygen Demand’ (BOD) of a
water body indicate ?

(b) Explain the changes in BOD level of the primary
effluent during its secondary treatment in sewage
treatment tanks.

24. (a) ST FAFLIHRY (SYT-HU HITH) THAH H 59 SUR T
DNA ©U€ 9% @ 94 @, 39 e s fag| g
HHHARE |
(b) 39 YHR Y% §C DNA WUE[ &I ¥ YR <@ S & @
3% 9o fepan ST @ 2

(a) Explain the principle on the basis of which DNA
fragments separate in gel electrophoresis technique.

(b) How are the DNA fragments thus separated, visualised
and isolated ?
25. fordi Tsh ENE (restriction) Q'S\Iréﬂ%Qm I AdMH l%’lﬁﬁﬂz E‘vﬁT
qeRT fF 98 Y FW HLAT T |

Name any one restriction endonuclease and explain how it
acts.
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26. (a) UA-faeht &t 4 efefvea: $Sifafa $gfaa @ fod

YR SR ? HEEET |
(b) TH YHR R T8 IHfAF qA1 AHE IR H U SH ared

i $gfer § 1 3 § 2 3

(a) How did Eli-Lilly company produce genetically
engineered insulin ? Explain.

(b) Differentiate between the insulin thus prepared and
that produced naturally in the human body.

27. fTafaf@d YR & TAY (SAEE) TWEHART & A% &
TSh-Teh 3CRWT TH THIART 3

(a) RIS
(b)  HEHISTAT

Explain with the help of one example each, the following
types of population interactions :

(a) Mutualism

(b) Commensalism

Qe D
SECTION D

28. WEhs(hal ¥ TIHGIYH & Aehar &1 guid g | 39 ufshar H
TEEEE! H T @ T B 8, THEsy | -

Sroran :

T a9 IS & FAN & gUH RV | 9 R TS W TE,
fafew | 5
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Describe the process of translation in prokaryotes.
Highlight the role of ribosomes in the process.

OR

Describe Hershey and Chase’s experiment. Write the
conclusion they arrived at.

29. HFEl # g4 darenl faefafEa uFmad g

(a) 3fStca
(b) o=
(c) 3faifgur

Al

(a) UfSEreml (emgqeifsa) § W S & fafys fafe et &
d9 Td 3% FHH GHET |

(b) AR =" + ufFn THEmET |

Explain the process of

(a) Ovulation

(b) Fertilisation and

(c) Implantation in humans.

OR

(a) Name and explain the functions of different wall layers
of anther in angiosperms.

(b) Explain the process of double fertilisation.
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30. (a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

fordll 3 o ax Wi STIHAT T30 ST Sal g3
fh YR § Tk a9 o1 <al @ ? GHIRET |
o @ @ for uiifafas srgauil § wE-E geR aul &
UG T ST 8 7 FRUT g g¢ GHIRET |

A9d1
T% 3CET <d gU GHREY {6 Sausfd (arEmm™) #i1 St

firifie &ar @ @ | TR & il @ Sedeld e sw
T U fyfre ¥ R weR R gar @ 2

qiiRftgfaea futiel i @ aREmT aasT |

How does primary succession proceed in a lake to
develop into a forest ? Explain.

Why do ecological successions take several thousands of
years ? Explain giving reasons.

OR

Explain with the help of an example the upright
pyramid of biomass. How is the pyramid of biomass in
a sea different from the one explained ?

List two limitations of ecological pyramids.



